














Q. GVRX

(A) 13,65,78,69 

(B) 13,56,78,96

(C) 24,56,87,96

(D) 75,01,87,34
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Find the option which should replace (?)

7 , 10 , 15 , 24 , 41 , 74 , ?

A. 149
B. 169
C. 159
D. 139



Q. X is 4th to the left of Y who is 17th from right end. What is 

rank of X from right end?
X,Y के बाएं चौथा है जो दाएं छोर से17वां है तो ज्ञात कीजजए Xका दाएं छोर से
स्थानक्या होगा?
(1) 21st

(2) 25th

(3) 19th

(4) 24th

(5) None of these

Question -1



Q. In a row X is 14th from right and 19th from left. Then what is total no?
एक पंक्तिमें X दाएं से 14 वे और बाएं से 19वे स्थान पर है। तो कुल संख्याक्या होगी

है?
(1) 21

(2) 32

(3) 10

(4) 24

(5) None of these

Question -3



Q. In a row of 35 students. Amit is 15th from right and Mohan is 12th

from left. How many students are there between Mohan and Amit?
35 छात्ो ंकी एक पंक्तिमें। अजमत दाएं से 15 वें स्थान पर हैं और मोहन बाएं से 12 वें
स्थान पर हैं। मोहनऔरअजमत के बीच जकतने छात् हैं?
(1) 21

(2) 13

(3) 10

(4)  8

(5) None of these

Question -4



Q. In a row of 25 students. X is 19th from right and Y is 21st from left. 

How many students are there between X and Y?
25 छात्ो ंकी एक पंक्तिमें। X दाएंओर से 19 वें स्थान पर हैऔर Y बाएंओर से 21 वें
स्थान पर है। X और Y के बीच जकतने छात् हैं?
(1) 21

(2) 13

(3) 10

(4) 6

(5) None of these

Question -5



Q. In a row A is 12th from left and B is 16th from right and there are 5

members between A & B then what is total no?
एक पंक्ति में A बाईं ओर से 12 वें स्थान पर है और B दाये ओर से 16 वें स्थान पर है और

Aऔर B के बीच 5सदस्य हैं तो कुल संख्याक्या है?
(1) 33

(2) 21

(3) 10

(4) Either 33 or 21

(5) None of these

Question -6



Q. In a row of 35 students. X is 5th from left and Y is 9th from right. Z is

exactly mid of X & Y. What is the rank of Z from right end?
35 छात्ो ं की एक पंक्ति में X बाएं से 5 वें स्थान पर है और Y दाएं से 9 वे स्थान पर है। Z
,Xऔर Y के जबलु्कल मध्यमें है। दाएं छोर से Zका रैंकक्या है?
(1) 5

(2) 21

(3) 10

(4) 20

(5) None of these

Question -7



Q. In a row of 35 students. X is 29th from right and Y is 27th from left 

and Z is exactly mid of X & Y. What is the rank of Z from left end?
35 छात्ो ंकी एक पंक्तिमें X दाएं से 29 वे स्थान पर हैऔर Y बाएं से 27 वे स्थान पर है
और Z ,X और Y का जबलु्कल मध्य में है। बाएं छोर से Z का रैंकक्या है?
(1) 17

(2) 21

(3) 10                  

(4) 20  

(5) None of these

Question -8



Q. In a row of 45 students. X is 5th from left and Y is 9th from right. Z is

exactly mid of the row. What is the rank of Z from right end?
45 छात्ो ं की एक पंक्ति में X बाएं से 5 वें स्थान पर है और Y दाएं से 9 वें स्थान पर है। Z
पंक्ति के ठीक मध्यमें है। दाये छोर से Zका स्थानक्या है ?
(1) 17

(2) 25

(3) 10

(4) 20

(5) None of these

Question -9



Q. Rohan ranks seventh from the top and twenty-sixth from the bottom 

in a class. How many boys are there in the class ? 
रोहन शीर्ष से सातवें स्थान पर हैं और नीचे से 26 वे स्थान पर हैं। कक्षा में जकतने लड़के
हैं?
(1) 31           

(2) 32      

(3) 33          

(4) 34 

(5) None of these

Question -10



Q. In a class of 90 students, numbers of boys are twice the number of 

girls. Rani is 58th from the left end and there are 20 boys to the right of 

Rani, then find the number of girls to the left of Rani? (if Rani is girl)
90 छात्ो ंकी एककक्षा में, लड़कोंकी संख्या, लड़जकयो ंकी संख्या का दो गुना है। रानी

बाएं छोर से 58 वें स्थान पर हैं और रानी के दाजहनेओर 20 लड़के हैं, तो रानी के बाईं
ओर लड़जकयो ंकी संख्याक्या होगी? (अगर रानी लड़की है) 

(1) 15 

(2) 16

(3) 17 

(4) 19

(5) None of these 

Question -15



Q. In a row of Bank ATM queue Sumit is 18th from the front of the 

queue and Lalit is 23rd from the back side of the queue. What will be 

the total number of candidates in that queue if there are eight 

candidates in that queue between Sumit and the one who is exactly 

middle of Sumit & Lalit ? 

बैंक ए.टी.एम. पंक्ति में सुजमतआगे से 18 वे स्थान पर हैऔर लजलत पंक्तिमें पीछे की

ओर से 23 वें स्थान पर है। सुजमतऔर वहव्यक्तिजो सुजमतऔर लजलत के ठीक बीच

में है, के बीचआठ उम्मीदवार बैठे है। तो उस पंक्तिमें उम्मीदवारो ंकी कुल संख्याक्या

होगी? 

(1) 35

(2) 41

(3) 36

(4) Cannot be determined

(5) None of these

Question -29




